ECN 3890

Spring 2007

Homework 7 Answers
The following questions deal with the market for schoolteachers, which we will assume is perfectly competitive.

1.  Draw a supply and demand diagram of this market.  Indicate the equilibrium wage rate and the equilibrium level of teachers hired.

2.  Suppose the supply of schoolteachers rises.  Show on your graph what will happen to the equilibrium wage and level of employment.  Does the wage rise or fall?  Does employment rise or fall?


[image: image1]
3.  Suppose that the demand and supply of schoolteachers can be shown as:

L = 20,000 + 350w

L = 100,000 – 150w.
What is the equilibrium wage in this market?  How many schoolteachers are employed?
20,000 + 350w = 100,000 – 150w

80,000 = 500w

w = $160

L = 76,000

4.  Suppose that at any given wage 20,000 more schoolteachers are willing to work (Hint: Just add 20,000 to the existing supply curve).  What will the new supply curve be?  What will be the new equilibrium wage and level of employment?  Is this the same answer your diagram predicted in (2) above?
40,000 + 350w = 100,000 – 150w

60,000 = 500w

w = $120

L = 82,000
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